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Q No. | Question ,
Ans. a b | c ’ | d

1 What are the Highest Common Factor and Lowest Common Multiple of 672 1207 / ’

S 72, 120 FT FgedH WAITTIF 3R eeeast wagacd a2 & |
1

80 |6, 360) | 360, 6 | 12, 360 j

N

- If a quadratic polynomial y = ax’+bx+c intersects x axis at o and B, then / T
w%wa:ﬁm:—ﬁuagqay:axabmﬁ:ﬁrgﬂxa#raaﬂvﬁwm%a’r |
@Lb% ]Ol+5=a/b : ]axﬁ=a/c 'a/B:l j

fin two linear equations ax + by =cand dx + ey =fand a/d = ble = ¢/f then, which_,!
o7 1ne ‘ollowing is true about the two equations? / afg gfavdr g#iewo ax + by=c |
\

ST 2oy = f3R a/d = b/e = c/f Tl & A # st @ @ @ T 22
T2y rzoresent intersectin hey represent Have a unique | None of ‘
"Es | T FETESs Y@is | coincident lines, / & solution./ T | these / == |
S bbbt At st S
4 Roos of e quadratic equations 2x* +x - 528 =0is : / ZFAETe IO 2x%+x—528=0 & H\ar%q
18 -22 2 Both a&b/ a3k b aef ]Noneofthese/ sﬁﬁﬁaﬁéaﬁw
'5 Sum of al coseve ~izz2zrs from 1 to 100 is: / | YaTeHw quite 1 & 100 Fﬁrzﬂw’s‘:"

"7, 5020 | 10800 | 2400 =

e R
* = ~=C and A DEF be 64 sq cm and 121 sqcmand EF =
== == Paget A ABC 3R A DEF &7 eiywer 64 o aa. 3k

32w TS BC W




9 The angle of elevation of the top of a tower from a point on ground which is 30 mtrs.
away from the foot of the tower is 30°. Height of the tower is ;/ T& fog, S FAaR & F=e

Y & 30 Mex o7 Rua &, & AR & MY &7 Sewrzer avor 30° § | FHwR A FaE ¥

10 /N3 mtrs. 7D | 10 X V3 mtrs./ 100 mtrs./ 20 mtrs./
10 V3 AX 10 Xv3 #Hex 100 #Hrex 20 #Hiex

10 The length of a tangent from a point A at a distance 5 cms. from the centre of the
circle is 4 cms. Radius of the circle is / et g & &g fig & 5 a#. & gff W Rua

g & w9 Y@r fr owrs 4 @ ¥ ga f Bew &
2cms / 2 9. l@cm@SWﬁ/‘ V3 cms / v3 & |\/3/20ms/\/3/2 aaf. |

11 Length of a minute hand of a clock is 14 cms. Area swept by the minute hand in 5

minutes is:/

T TS Y e fr g$ H wwars 14 Feh. . 5 e F Bere B gE A wue a9 e
154 sq cms/ 154/3)sq cms / 210sgcms / 154/ 3 sq cms /
154 37 §AT. 154/3 T ¥, 210 =& Jr, 154/3 T3t daf.

12 A metallic sphere of radius 4.2 cms. is melted and recast into the shape of a cylinder
of radius 6 cms. Height of the resultant cylinder would be; /

T 4.2 ¥ B are arfcss e F Rrger & vw 6 JA. e g R & ameR
# oo AfAd R Srar 81 oo s st & Fard e
110 cms /110 . | 3.84 cms/ 3.84 Wi, | 30 oms/30 M. [(2.74 cme) 2.74 3a.

13 A box contains 3 blue, 2 white and 4 red marbles. If a marble is drawn at random from
the box, what is the probability that it would be white./
WW#BFﬂﬁ,zmaﬂT4mﬁ’ﬂaﬁrmmﬁ§é%laﬁmﬁﬁwﬁa
1 el R A R & B S § ar 3o ave g S wfwar R ¥ |

Cannot be determined/ iR w187 fFar o1 g&ar * 1 ] 7/9 ‘@ -

14 Which of the following cannot be the probability of an event? / i
o T & O FIT UF geaT Y UIfdehdr F8F g gehdr?

2/3 (15) | 15% l0.7
N——”

15 Mean of a grouped data calculated using direct method, assumed mean method or
step deviation method: / T& WHgag Hies & ATed, vogeT Al wfoua Arew Ay ar |

9ar-fauee fafr & g@nr aumEr e W)

w Varies slightly/ Has huge variation/ None of these /
T UIST JEAdT § | 931 e g § T A g AR




16 | Which of the following is a Prime Number? / 5=t & & @l v 3misa dear &
12 ) -~ 9 4
17 If polynomial P(x)= x® - 3x? + 5x 3 is divided by polynomlal G (x) = x*-2, the
quotient and remainder are : E’g’ﬁ'ch(x) x*=3x” +5x-3 fsnfarg gar & TGS
G(x)=x-2 9, a’raﬁrsﬂraﬁm%
/x-3, 7x-® ‘ X, 7X I x-3, 7x ] X, 7x-9
18 Ifin triangle ABC, if side AB=6+v3, AC=12 and BC=6, then angle B equals: /
UF 3 ABC #, afd s7a AB=6v3, AC=12 31K BC=6 ¥ & #oT B GAN g
120° | 60° (90 | 45°
P
19 What are the coordinates of the point which divides the line joining (-1, 7) and (4, -3)
in the ratio 2.3 7 /
Wﬁg%ﬁé@ww%a’rrvﬂgﬁmmu 7)34‘11( -3) H 23 F qua F
famfaa #ar &2 B
(7.4) [0.9) [(1.3)) [@.7)
20 Volume of a cone wuth rad|us r.and height h is :
mﬂmm@rﬁ—mwﬁrmh%maﬂmm P
th? I Trrzh/2 - | Trrh/3 |(mh/3)
: 21" | International Day of Yoga is celebrated annually on: / .
| el ¢ aamw’nr AT Raw Farar e ¥
21 June/ 10 December / 21 July / 21 September / e
2197 | 10 fewsw 2 | 21 ReeR A
/"‘\\
) City of lakes’ in India is: / iR # gfeli &7 ex &
/ Lucknow / Chandigarh / Bengaluru / Udaipur /

Which of the diseases is not causéd by virus? /

23
FleT_F1 37 Rwroy ST 78 grar ¥ 2
68 / Ffﬁﬁ?) Chickenpox/ 2= f Dengue / 371 .~ Polio / q’tfa'q’r
24 How many states are there in India? / IRa & fra =7 &

26 28 [27 l@)/

4 : =




25 During Akbar’s regime, who carried out land revenue reforms: / 3fheR & AR A,
free s[Tered guR R
Mann Singh / At &g I@dar I\ED/ZFT 'H'g/{ Birbal / ¥R&e | Tansen / a8

26 | Which of the following is the unit of heat? / fde=t & & 35T #r 3§ HleT A &?
Joule)/ S | Ohm/ 3#H .~ [ Ampere/TFiIT l Volt / afee

27 | Who among the following is the future Buddha that is yet to come? / &% & & #i=
sfasy & gg &, o 3l aaRd g g ?

Lokes Varna Maitreya)) #3F  |Laughing Buddha Chanakya / =mvag
[elvdRar gof Gl -

28 Jaundice is caused due to malfunctioning of :/
qifor o1 B F TIE g F FROT gar 8?2

‘(Livery&aw <~ | Stomach/ ¥ | Pancreas / i@ | Kidney / 7

29 Tsangpo river flowing through Tibet is known in India as: /
fead # & @19 dgal arel T AL H HRA H AT S 8
@hmp@ W/] Ganges faem I Sutlej / AT ‘ Beas / &ard

30 Yuri Gagarin, the first cosmonaut to reach space, was from which country?

0 TR, JaReT # wge T wuH sfaRer A, R dw & ¥ .
UK / Z7irses s/ | Japan / s | China /@ [(Russia )&

31 What is boilin“g.’poin't of water'in Fahrenheit?
‘ HAgSe # U & FIUHF FAT &7 '
1100°F / | 32°F (212°F) 0°F

32 KaIiBangan, the Indus Valley site, is in: / | 3
(Rajasthagmﬂqujarat /eI Madhya Pradesh,fﬂt'zrvq’&%r‘ Uttar Pradesh/3caR weer

33 |-Who was the founder of Banaras Hindu University? /

| RE g ReaRegen & dues sl
Sukumar Dey/ W Dr. Rajendra Prasad/ | Motilal Nehru /
PR 3 HeA Ae AR 31, TofE 991G ArdraTe Agw

‘ 5

A



s e e

34 Where do you find the temple of Angkorwat?
3HRATE ARY Fgl Roua &7 '
| Thailand / w135 | Malaysia/ sy |Combodia ) #==fEar | Myanmar / =R |

e # @ Fia gand &1 FRoT @ e 1
Volcano/saremsdr ] Avalanche / fgA-T@ereT ] Tornado / sasx KEarthquakQ/ HhEY

E‘S Which of the following can cause a Tsunami?/

E{S Ilw Bhakra Dam in India is built on: / SIRa 3 a1gsT Ty [AfFT §
B

eas River ljhelum River Sutluj River { Ghagra River

Sord Adr AGESER [ETERT 7Y

[T Ty

Who wrote ‘Ramcharitmanas? /
THIRTAAT & Tafidar sl o
(ulsidas)qeritary_ | Vedvyas/ deare | Kalidas/ #1efere | Panini/ wriowh B

38 The river known as Ganges of the South is: /
mﬁmﬁm@mmmﬁ&
J Godavari/ ateradr | Krishna/ FSoT m(aver@ﬁﬁﬁ l None of these/ 318 & #1$ g

TITHGT NARVT gl &g &2 ~
MP/ e w8 .~ UP / ek w2ar (Kamataka)/ FeAicd | WB/ aRRast s
.y

[9 Where is the Tungbhadra Sanctuary located? /

ttrakhand Rajasthan/ | Himachal Pradesh /

3caT@s icEiic) | oS s

40 | Where is Nanda Devi Mountain? / et &dr uda gt &7
ST Teer

Arunachal Pradesh/?

! 41 J Jaya Samhita is the original name of: /3 Tl A A &

Ramayana/ Bhagwat Gita / 'Panchtantra/ Mahabharata
, ol FAEHRT _ ;

merw sreTa, oM
LN\

Vitamin DZ P Vitamin K/ Vitamin B12/ ‘ Vitamin A/

ertaaT & RerfaeT & e @12 fafaa o

42 Rickets is caused due to deficiency of : /
fraer el & FRoT @ A g B
d




43 Who was the first woman speaker of Lok Sabha?/
aEw T f gUT Afger aHafy Ha A
Sumitra Mahajan/ | Najma Heptullah/ <w Paratibha Patil /
G FES < | Aot dedeeTs T FAR wfeem wifee I
44 With which sport is term Butterfly associated with:/ ‘
o Tar ¥ TeIFaS e HH 87
Kabaddi/aagar | Cricket/ R | Football/gearer  |[(Swimming)) &Rrer — |
45 The resolution for removal of Vice President of India should be moved in: /

HRA & 3YASEUT & (ASHRIA T JEAE T el e

Lok Sabha/ ajya Sabha Either of the Houses/ | None of these /
ClCk:E q5T FHT ey v weT A FAH F FIS TGN

)What happens when dilute hydrochloric acid is added to iron fillings? /
39 gEgiFeiR® tRis & O # dlg 9ot # Srem Sar §, a9 F4r @ @2

/H/rogen gas andﬁv Chlorine gas and iron No reaction | Iron salt and water
\shj%ej%pﬁo,m&ed% hydroxide are produced/ | takes place/ | are produced /
BIggISTal A 3R IRA | el g 3R ¢ gfafRa | 3R @TeT 3R

=
¥

A solution turns red litmus paper blue. Its Ph is likely to be:/ ;

TF O ol fedg 9ot &7 o & oRafda s aar § | sger @ . g

1 4 |5 (10)

48

An element reacts with oxygen to give a compound with a high melting point. This
compound is also soluble in water. The element is likely to be:/

wmaﬂm?mﬂﬁﬁmmmﬁﬁwﬁgmvamm%lw
I orelt 7 geaha &1 J§ aca gem
@m)%ﬁmﬁ/‘ Carbon/ &méa

| Silicon / Rl | Iron/ 3me

49

While cooking, if the bottom of the vessel is getting blackened on the outside, it
means that : /

AT ST AT I I FT AT G P NP & Frell &7 @ &, sGar 37T & &5 ¢

e fuel is not burnin
ompletely/ s

The fuel is wet

/ gereT e F

The food is not
cooked completely/

The fuel is burning
completely / g4

i oo @




50

g

Which of the following statements is not correct about the trend when going from left
to right across the periods of the periodic table:/ &% & @ =i AT FYT Fq HaS

wRoh AT ¥ ard o & A g & Ay F @ A R

The elements The number of | Atoms lose their
become less valence electrons | electron more element becom
metallic in nature /| increase / sdfergiat & | easily/ 3T HYe ore acidic /

e B IR FH | TR e A | sl @ aRE | & sreased s

Xides of the

tfeas gl & HE A G AR § | e @ @ € | s @ oy &

51

Kidneys in human beings are a part of the system for : /
AT WR # & B JoIed v o

Nutrition / @wur | Respiration/ eawer @creq@’m Rt | Transportation/war

52 \ The gap between two neurons is called a: /

/| 2 e & s o e

Dendrite/3g3e (L,’Synaps@f@?ﬁw J Axon/ TEFElT - ’ Impulse/sFaeq
53 In a plant, the anther contains: / wF W & wEERY gar & .
Sepals / %ol & aedge | Ovules/ aﬁsnvl‘ Pistil / g7 @far (Pollen grains) wreror
I [
54 In evolutioriary terms, we have more in common with:/
@ei:'%@ Chimpanzee /  Spider / .. Bacterium/- \
boy/ T et BT RS F=r © | Shram BEEEREN
55 | Which of the following material cannot be used to make a lens? / e
ﬁmﬁ@aﬁammﬁvmﬁﬁmaﬁ%—ramﬁ
Water/ qrir f Glass / ofrer ] Plastc =fees d:Clay Dﬁrﬁr
56 The human eyes form the image of an objeét at its:

maﬁﬁﬁ»—maﬁwmm &
Cornea / Fifaar [ Iris / 383@ . ’ Pupi / =& ([Retina)/‘?ﬁ?n

£

57

' Which of the following terms does not represent e ect~z cower in a circuit? /
| A= A3 5 & Ry & Regg MRa A af = &
PR (Ir?) [vi \2 /R




59 Which of the following is not an example of bio-mass energy source? /
m#ﬁmmmmwwmaﬁﬁ
Wood / @&&r | Gobar gas/ feX 3w (Nuclear energy) Mf&$T 33| Coal/ 1T
60 Which of the following constitute a food chain? /

fe & @ P TF TEg AT Tl

A

Grass, Wheat and
Mango/arH, g AR

THY AR AT

an /

Goat, Cow and
Elephant / s&J,

g AR g

Grass, Fish and
Goat/ oTH, HTaT

e iegcCoy

For question nos. 61-70, complete the sentence by choosing the most appropriate option
from those given below:

61 Pleasure and pain are inseparable facets................. human existence.
in on (Lof ¥ _{by
N
62 Is there .......... fitness centre near your house?
an the a s none of these

63 | | He has hardly read.......book.

(the) -

| many all none of these
T — —
64 | ... of pain is real and affects one’s body, mind and spirit. ,
Experiencing _* “Experience ' Experienced none of these
\__/

! He drove with

....... care and hence was fined by Traffic Police.

. much

Clitle )~

all

none of these




68 The....... monkeys that escaped from the Delhi Zoo were found eating bananas ina

fruit shop.
many mrea 0 \ all ) different

69 We are........ to go out for a picnic tomorrow.

plan plannhg . | plans | think

70 The train must........ reached Delhi by now.

has | had y  (have ) | none of these

For question nos. 71-75, select the word spelled incorrectly.

71 | cAischein | | belief /s | thief | grief
(72 | familiar “ | sin | hammer { grammer)
|73 | focal | vocal |Gehical D | local +°
: ALl
T74 ] carpenter Qlientejst)' ] doctor- * } plumber
| 75 m | crater | lava | earth *
W o e

For question no. 76-80, please choose one of the 4 alternatives that can be substituted for
the given sentence. ’ T

76 A person who believes in God.

flheii) | Cynic ' | Atheist =« | none of these.".

77 Story of an individual by himself.

biography autobiographyy 1 history | none of these
\——/

@ A book or paper written in hand.

edition | draft q‘:manuscrlpb | none of these :

79 A number of ships.

(fleel) galaxy | constellation | group

—_—

80 A young cow.

hAvina hard qcalf ) e ’ none of these



For question nos. 81-85, find the odd one out of the choices given therein. /

e HEAr 81-85 #, o Y fawodt F & dRw gl

Bn ] Vindhya/ faeg / Satpura / FeqsT } Aravali/3RTaelr @al La@ ELC) Eﬁ?vrj/

Iﬁz } Ganga /3m@m | Yamuna/ &= ’ Brahmputra / seaqs averi)) sradr ]

Ls3 ] Ammeter/ 315 , Thermometer/aAfdiex l Barometer/&R#ex q"l'\emperature Hrq'ﬂﬂ

84 Mango / 3 apple / a9 otato ) 3iTe] blackberry /
st 7

Lss ‘ Aizawal / 3T|33ﬁ?~r" ltanagar / 3ERPR (LTripuraD?gTr f Shillong / Ryerier —’

For question nos. 86-90, each question contains a pair of words. Find the relationship
between these two words. Then choose from the options given in which the relationship is
almost similar. / & HEar 86-90 #, YT Yo N T eq I3 | At el F Hew @Ay
g Wmﬂmmﬁmﬁﬁmwmmmﬁgﬁm

86 | Copper: metal / dfar : g
engine : car / Furniture : wood / | Pen : pencil / Pepper : spice
i : R FoATeR ey - 9 ; §fAer =T T

87 | Granary : wheat / 31T : " |
lake : water / wine : grapes / gallery : art/ rchive : documen
sher:oetr AR ;IR el : ot HIETAT : aecaol

' 88 | Albania : Europe / 3restferar ; T
Sydney : Australia/ Congo : South America/ Bengaluru : India/ {Cote d’ Ivoire - Africa /

s : areifer : afeoT 3ARe TE ¢ AR FT 2 sad ;P

89 Uranium : Nuclear power plant /
TR WAT] FaAT §IT
coal : washery / sand :sea / | coal :thermal power plan steam : furnace

@I ;e i?r\:mga A - =T T e EICIE )

11 ’ e



90 Hallikar : cow / §& : Mg : ,
¢dachshund : do Gir : lion / goat : lamb / mule : horse /
STRE : HeaT -~ |fRW qHY AFA goe : EEr
91 In the number series, what number should come next? 7, 10, 8, 11, 9, 12, ..... /
HEIT FH H, erelr e F4r gen? 7, 10, 8, 11,9, 12, ...
Pt
11 [15 . [14 (10)
7

192 | What comes next R, U, X, A, D, .7/
R, U, X, A, D, ... ® 3T 47 3MT9m?

| F (c) »- H K

93 | Ifthe 7" day of a month is 3 days earlier than Friday, then what day will be on ihe 19"
l day of the month? /
‘\ uﬁwn@ﬁwmﬁﬁawﬁ3%ﬂm%ﬁﬂmm19mﬁﬂwmm

( Sunda}mrqu l Monday/ HHIR ‘ Wednesday/‘g’w

94 If EARN is related to RANE and BOND is’ related to NODB in fhe same way TEAR is
\ related to : 7
afE EARN wﬁm % RANE 3R BOND w&fea  NODB @, ar 3t e TEAR weftra
&

ATRE ( AERT )¢ | ARFT  FREAT il

i 95 Average age of a father and his son is 22 years. Ratio of their age is 10:1, what is the
age of the son? /

Wﬁmaﬁrmwﬁmmzza&%tmmwsﬂmﬁw1 %lg'a'@rafrg
e &7 .
24 years/24 a¥ @years/4 aﬁ) I40 years/40 a§ |6years /6 ak

vy 9% v o
7&'& oM
A f)’/// “4
- e 12




For question nos. 96-100, each question comprises of a statement and two conclusions (1)
and (lf): Assuming that the statement is true, which of the conclusions follow logically from
the statement? /

mamgs-woﬁ,mqeaﬁwmaﬁzaﬁw(:)am(n)%.u‘a'maﬁgcrﬁaaw
m%,ﬂamﬁw&aﬁa:m#m*mﬁam

96 | Statement: +¥ya
In a one day cricket match, a team made 200 runs, out of which 160 runs were made
by spinners. / T ey e #a &, v &w ¥ 200 T AT, TrEHF F 160 @
gt F s=mw |
Conclusions: fasF§
\w/ 80% of team consists of spinners./ €& & 80% fRu=ix ¥ |
(n Opening batsmen were spinners./ YRIEWE Jeoerst 9T & |
Only conclusion (1) Only conclusion /Nﬂher (1) nor (I Both (1) & (lI)
follows / &aer fasswg | (1) follows / llows / & ar follow / (1) 3w (1)
(1) 3moam Fae frsmd (1) | AT & (1) muew | @ & e
JHTTeT
97 Statement : Fua
~ |The old order changeth yielding plaice to new. /I SHEET F T W A egaedr e
ok o
Conclusnons ﬁwﬁ
I JD/ Change is the law of nature, 1 oReader E@fc’f T RA
()  Discard old ideas because they are old. [ Rt & @ & 9ife g e
g
Only conclusion I1 . Nﬂej‘ther (1) nor (II) Both (1) & ()
follows / ¥aer  [follows / & ar ) follow / (1) 3T (1)
s () smoem | Rrsad () smer | R E & (n) smew | @t @ smen
98 Statement : .Fuer

Because of growth in production of Aluminium by National Aluminium Company,
India has become self-sufficient in Aluminium./ T FegfAfaTs Frel gany

mmmﬁa%$w mmﬁ%ﬁmﬁmaﬁm% |
Conclusions: fase§ - :
\I)/ Previously India had to import Aluminium. / 9gar 9RT Fr FegfAafams o
=5 AT AT 9Sar o7 |
- At this rate, India may start exporting Awuminium./ 38 &3 R, #RT
A W R o W aw &
< Only conclusion (1)Y)| Only conclusion (11) Nesmer (1) nor (1I) Both (1) & (Il
ollows/ Faer follows / ¥aer foliows = ar () follow / (1) 3R (1)
fasy (1) 3moen faswy (1) 3meaw FTFET ) ww 2F & aua

13




99 Statement : &Y .
All mangoes are golden in colour. No golden coloured things are cheap./
Tl 3T FAEY T F g1 FS o Fored 1 f awq & g ¥ |
Conclusions: fassy
(1) All mangoes are cheap. / @3t 3187 & gl
y Golden coloured mangoes are not cheap. / e {1 & HIH TET el & |
ﬁy conclusion Only conclusion (Il) | Neither (1) nor (lI) Both (1) & (I1)
follows / saer follows / =1 ar (1) follow / (1) 3R (1)
sy (1) 3meem sy (1) 3meem 3R s & (1) 3muer | @&t g 3mder
100 | Statement: HyT

Conclusions: Fr#¥

()

Jade plant has thick leaves and it requires little water. /

T & ol & ofcaar A € 3k 5@ FH gk & maegEar g ¢

All plants with thick leaves require little water. /
ey A ofeaat arer diuf @t e gl Hr sraegwar g & |

( Jade plant may grow in places where water is not in abundance. /

FE H T I TS R 3T FhaT § T g Hr J0Far F8 S &

Only conclusion (1)
follows/ &aer

oreeRy (1) 3meem

Only conclusion (Il)
follows / shaer

foswy (1) 3mTem

q

"Neither (1) nor (I
llows / & ar
3T T & (1) 3mTET

Both (1) & (!

follow 3T

DU

‘Gietl & LA

% ¥

T 14
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